DU MEd

Topic:- DU_J18_MED_Topic01

1) Which of the following statements stands true for ‘gendered division of labor'?

1 F SeR fAure & Tdy § Fuferiaa ¥ @ $19-91 $y= 98 82

1. It refers to allocation of different roles and tasks to women and men according to their individual preferences and capabilities./dg
afgarait iR goul o1 safdrra adtaarst iR dvaarsit & snur w A yfyersit ok ol ¥ srees @Y ok HHhda Har gl

2. It operates only in reproductive activities within the household and not in productive activities./qg T¢ $TUI & Had TA=dIGH foparsit &
a1 & 7 % Saures fbaraii #|

3. Before the Industrial revolution, most production took place within the household, and there was cooperation and complementarity

between men and women. /3eNTI® hifd F S BT ST TR ® € EhaT 4T 3R SuH Afgamaif ok goul # WedRT uq uivgRaar 4t
4. It is not the same everywhere. /g 94} S8 W A 781 g1

[Question ID = 18492]

1. 2 and 3/ 2 3iR 3 [Option ID = 43960]
2. 3 and 4/3 3R 4 [Option ID = 43961]
3.1and 2/ 1 3R 2 [Option ID = 43959]
4.1 and 4/ 1 3R 4 [Option ID = 43962]

Correct Answer :-
« 3and 4/3 3R 4 [Option ID = 43961]

2) Which of the following is described as the Magna-Carta of Indian Education?

g & | s HRd Rran 1 fn-sref wu # aftfq 22
[Question ID = 18504]

1. Sargent Commission/ﬂﬁ%’ ST [Option ID = 44007]
2. Hunter Commission/ §cx ST [Option ID = 44010]
3. Macaulay’s Minute/ ATet fiiFTe [Option ID = 44009]
4. Wood's Despatch/ W%@ﬂ [Option ID = 44008]

Correct Answer :-
« Wood’s Despatch/ 359 f&¥4 [Option ID = 44008]

3) Which of the following test items help in measuring the ability to identify the correctness of statements of facts, definitions of terms,
and statement of principles?

frafaf@a d & o1 & whaon uy qurers sy, RS @) ok A Sul & J5 81 31 Ugar 1 argdr Y 7410 6T 62
[Question ID = 18454]

1. Multiple choice questions/ﬁEﬁW U [Option ID = 43808]

2. Fill in the blanks with one word/® Tsg ¥ Fad ®IM qﬁw ara vy [Option ID = 43809]

3. Matching the items from one set to the other /T THg 1 GUX UHg U fHA & a1dl U4 [Option ID = 43810]
4. True — False items /G- aTdl UY [Option ID = 43807]

Correct Answer :-
* True — False items /Hd-3¥{T EIGRCE [Option ID = 43807]

4) Which of the following is a micro-blog?
fFrafafEa & @ $19 argwisan 82
[Question ID = 18464]

1. Squarespace/ﬁﬁtlﬂaﬂ [Option ID = 43849]
2. Wordpress/aSt9 [Option ID = 43848]

3. Twitter/fgex [Option ID = 43850]

4. Blogger/ SAIR [Option ID = 43847]



Correct Answer :-
o Twitter/ %E? [Option ID = 43850]

5) Which of the following does not show a ‘learner-centered approach’ to assessment?
FrufafEa & $1H-a1 srwa e fRendf Sk surme ot =8 guifar?
[Question ID = 18455]

1. Focus is on knowing the learning deficit of a learner/faenffal & 3ifrm ©F St W e FHfEd HAT [Option ID = 43811]

2. Focus is on the learning process and experiences/3ifERTH UfshaT iR 3rHal TR & Hfed HAT [Option ID = 43813]

3. Focus is on strength, ability and needs of the learner/f3amf & ToTed vey, Tvoan 3R STaRadmarsti TR & Hfd BT [Option ID = 43814]
4. Learner is viewed as an active participant /ﬁ@ﬂﬁﬁﬁ fspar gfaurft & w0 & A1 [Option ID = 43812]

Correct Answer :-
« Focus is on knowing the learning deficit of a learner/fa=nfial & 4fEH Bt H1ft WR e FHEd HAT [Option ID = 43811]

6) Which of the combinations of concepts that follow are involved in observational learning?

Frafafad sauromsl # | S a1 Hae gddaonae oftnm § affiferd 22
[Question ID = 18477]

1. Vicarious reinforcement, Self-perception, and Social behavior/ Qﬁﬁf%gﬂéﬂ:{, 3TH-TEIT 3R TS TTER [Option ID = 43902]
2. Vicarious reinforcement, Self-perception, and Social perception/Sfaffid GreaH, 3MTcT-Ucgein 3R JRIIw Tedeium [Option ID = 43900]
3. Self-perception, Expectancy, Vicarious reinforcement/ 3MTe-U&ful, 3aef, UfafAfiies gaia [Option ID = 43901]

4. Self-perception, Expectancy, Social behavior/3{TH-UI&UI, 30T, TS TR [Option ID = 43899]

Correct Answer :-
« Self-perception, Expectancy, Vicarious reinforcement/ 31Tc-UI&fl, 3Aef, HfafAfeies gaaie [Option ID = 43901]

7) Which of the statements given below stand correct regarding ‘Gender’?

FrafafEa & ¥ S9- FY Hev & ddy § T8t 3?2

1. Gender concerns only girls and women./ﬁS? BT WRIPR Had dIierpraif GﬁT H‘%W&ﬁ“\at %I

2. Gender operates across all classes, castes and communities./S8% $T UfaTe Tt o, sfeat 3w e # g g1
3. Gender is viewed in terms of provision of equal opportunities. /S8 &1 TH JfAT3i & Urae™ & Fay & 71 wrar g1
4, Gender is determined by nature./Ss3 U a gRT fAuifya 81

[Question ID = 18485]

1.2 and 3/ 2 3R 3 [Option ID = 43932]
2.1, 3, and 4/1, 3 3R 4 [Option ID = 43933]
3.1and 4/ 1 3R 4 [Option ID = 43931]
4.2, 3, and 4/2, 3 3R 4 [Option ID = 43934]

Correct Answer :-
« 2and 3/ 2 3R 3 [Option ID = 43932]

8) Which of the statements given below is not true?

g o 9 91 HYT I T8 2
[Question ID = 18481]

1. Education comes under the concurrent list/Rref W?ﬁ?ﬁﬁ% ST STt % [Option ID = 43915]

2. Education is a means of social justice in the Indian Constitution/fR1&T HRe Tfder & QAT =ar 7 T HIH § [Option ID = 43918]
3. Education is the collective responsibility of the state and society/fR1eT T 3R THS 3T THfe® RERT § [Option ID = 43916]

4. Higher Education is the fundamental right of a person/3= &M =fad &1 T M SMfAFHR & [Option ID = 43917]

Correct Answer :-
« Higher Education is the fundamental right of a person/3 &Ml =fad o1 Ue At MfBR § [Option ID = 43917]

9) Which Report mentions in its Preamble that “a lot is taught, but little is learnt or understood”?

o frulé Y waran & S foran T & o “9gd $° Uern ST 8, Afth et et ar [we Wi 872

[Question ID = 18495]



1. Education and National Development/fRT&f ﬁ?ﬁ@'ﬂﬁm [Option ID = 43972]
2. NCF 2005/ TTRIU% 2005 [Option ID = 43971]

3. Learning without Burden /ﬁmaﬁg@ﬁ@m [Option ID = 43974]

4. NPE 1986/ thﬁ'g 1986 [Option ID = 43973]

Correct Answer :-
» Learning without Burden /T%F-ﬂ @3{ RaAT [Option ID = 43974]

10) The Kothari Commission (1964-66) Report recommended which of the following to be the goals of education in order to realize the
larger national goals?

PSR ST (1964-66) P RUIE A WP w&aT 3w wea & forg o & | {52 fRam 1 @&a 57 $Y w¥gfa 1 7€ 82 [Question ID = 18488]

1. Reforming teacher education to suit national needs /RIS STIRTHISH & SR SHeATUSH fRI& H YR AT [Option ID = 43945]
2. Introducing sexual health education/?fﬂ Ty el B YR HRAT [Option ID = 43943]

3. Making education globally competitive/ Ay 3u I Rrenm &1 ufeantt s [Option ID = 43946]

4. Accelerating modernization/STY@I®HRUT BT A BT ol HIAT [Option ID = 43944]

Correct Answer :-
» Accelerating modernization/&ﬂg{ﬁm P IS P AT HRAT [Option ID = 43944]

11) In reviewing the reliability data in a test manual, a teacher noted the following reliability coefficients:

TP Tdterur gt § fagaaar sifes! 3t witen #a w9y, te R A Fafafd fya-oa quiet o1 S

i) Correlation of form A test scores over a month interval= 0.90/%TH A TSI&UT TP BT gHGY U A & SiRTel # = 0.90

ii) Correlation of form A with form B scores over one-month interval= 0.85/%TH A ®T B B % UTHI®! & HTY BT eHaY TP A P Sierre &
= 0.85

iiii) Correlation of scores on the bases of halves (odd-even) of form A= 0.95/UTtl® HT Wewat BTH A & M9 (TU-fAvw) & YR = 0.95

Which methods used for estimation of reliability in i), ii) and iii) are correctly represented in the options below:
e ¥ QP | few &, Ryaaar & g ¥ e waim 3t i ugia sa=: i), i) 3R i) 1 g ufaffia = g
[Question ID = 18456]

1. Kuder-Richardson, Split-half and Test-retest respectively/ TeX-Rase, fRae-gTh 3R Tierr- T: TIefor HHfd [Option ID = 43816]

2. Test-retest, Equivalent forms method (with time interval)/GI&UT- G-: TRI&0T, THT U UG (FHT RIS & A1) [Option ID = 43815]

3. Test-retest, Equivalent forms method with time interval, Split-half respectively/ TRigr- g: TR, A =4 TS IHT SdRT B 1Y, f&ae 81w ugfa
shHid [Option ID = 43817]

4. Inter-rater method, Test-method, Split-half respectively/3e3-YeR Ugfd, TRI&U-Ug(a, f&e-g1 $Hid [Option ID = 43818]

Correct Answer :-
« Test-retest, Equivalent forms method with time interval, Split-half respectively/ TRI&UT- G-7: TRI&0T, AT U UG THT SHRT & 91, fae gt
TSI HHId [Option ID = 43817]

12) Aamir has a difficulty focusing on one aspect of a situation, picking out important details, analyzing a pattern into different parts, or
monitoring and making strategies to solve problems. He works well in groups, has a good memory for social information and prefers
subjects such as literature and history. On the other hand, his friend Neema perceives separate parts of a total pattern and is able to
analyze a pattern according to its components. She is not good in social relations, but is good in Mathematics and Science.

AMRR 3! forht R & 1 ver W e Fixa w31, we<ayef faaron &) 371, feft de o1 fafts frwal § fazdvor w1 ar ot o &1

AT DT HIF SHP THTY B B G199 A HISATS gl ¥1 98 TE W 33T B a1 7, WrHIfore Fa-sit & g sqat wia st € ik ag
e g sfoer fawdt @t sifte aee 3a1 81 gud ok Suet fir <far iguf 3 & fafir =l &1 sreT- s auerd § oi SuF Ued! & AR
wfaar (e) &1 faRawor 3 urdt 81 3P AWIIG WY Yeg e ¢ fobg a8 ora ok fagm & st 81

On the basis of the above information, what inferences can be drawn about the cognitive styles of both Aamir and Neema?

ST TSR & YR TR MY MR 3R Ty Y 7 Tymrere At & o & aan ey e aod 82
[Question ID = 18491]

1. Both Neema and Aamir are Field Dependent/:ﬁIIT 3R SR T & Tde B [Option ID = 43957]

2. Both Neema and Aamir are FieId-IndependentFﬁﬂT 3R 3NfPR ST &= ﬁ'iﬁ&f%l [Option ID = 43958]

3. Aamir is Field-Independent while Neema is Field-Dependent/3MfiR & fRUer § wiafds e &= Arder 31 [Option ID = 43955]
4. Neema is Field-Independent while Aamir is Field-Dependent/=taT &= RO 7 Safe SNt & wmer B [Option ID = 43956]

Correct Answer :-
* Neema is Field-Independent while Aamir is Field-DependentFﬁTIT & fARder § wiafe SR & Tmder g1 [Option ID = 43956]



13) An English language teacher prepares a worksheet for her students to be done by them at the end of the day, to know where the gaps
are. She administers another similar worksheet after addressing these gaps in the next class.
What assessment practice could this be considered?

T 3l RifdreT st wen & sia W faenfiaY &1 ue srf-ue 3 F fo 3t @ @ifer 9 o 9 7 faenfiat & s & gt siavTa 81 srmal
PIAY | 37 RTeA D) TrIfd $A $ a6 a8 faenfia) 1 v 3k Fd-w=e &3 & g &t 21
Y TP a- Uiehal B f5H 31T F FU § AT o1 bl 82 [Question ID = 18476]

1. Repetitive assessment /‘{H?'Iqﬁl Hedich1 [Option ID = 43897]

2. Diagnostic assessment / [BEEIGED ELFQ'W [Option ID = 43895]
3. Summative assessment/ b TS IECIW [Option ID = 43898]
4. Formative assessment /X=Tce AT [Option ID = 43896]

Correct Answer :-
« Formative assessment /I HedichT [Option ID = 43896]

14) “The school does not consist of the building and furniture on which the scanty allotment for education was thoughtlessly squandered
away in imitation of the west”. Who among the following expressed this idea?

“faemeag # saRa oik wHTwR & aftifera 98 8, o wr Rien & fig srqafe srdes &) ufim & srga<or & famm SR-aws) sraera & faar mav
fFrafafEa & & fewa gg faar oraa far? [Question ID = 18462]

1. John Dewey / S SIS [Option ID = 43839]

2. Rabindranath Tagore/ ey TR [Option ID = 43842]
3. Abdul Kalam Azad/3fsgdd halTH 3Tellq [Option ID = 43841]
4. Mahatma Gandhi/ T Tieht [Option ID = 43840]

Correct Answer :-
« Rabindranath Tagore/ gy R [Option ID = 43842]

15) From the two statements given below, identify the phenomenon that each refers to:
I: Making the disabled learner fit into a regular classroom
II: Adapting a regular classroom to accommodate the needs of a disabled learner

A4 fow e = A § afufufor HifoR 6 ude g uRvae &1 iy #ar g2
1: Sierman gad fenfiial < ar=a wensh & wuraifa w31 a1
II: 3rerar g faenfial & smazawmdreil &) TATaIra $31 & 7T g S&T &1 g e+ HI1 &I [Question ID = 18453]

1. I: Integration; II: InclusionI: /I: Hﬁﬁ; 1I: gHARA [Option ID = 43804]

2. I: Mainstreaming; II: IntegrationI:/I: GEAYRT & WRfId H=T; II: YH®B [Option ID = 43805]
3. I: Inclusion; II: Integration/I: GHIAR; II: THH [Option ID = 43806]

4. I: Inclusion; II: Mainstreaming/I: G’Hﬁ*ﬂ’—[; II: H@Wﬁﬂfﬁlﬁﬁ AT [Option ID = 43803]
Correct Answer :-

o I: Integration; II: InclusionI: /I: E’ﬁﬁ; II: JH9RE [Option ID = 43804]

16) Object permanence is to sensorimotor stage as conservation and reversibility are to:

TGS F WA P71 oY VY YA IRP TN A § T8 WY T 3R IJepyvltaar &1 ¥ 2: [Question ID = 18479]

1. concrete operational stage.lﬂffﬁﬁv_qw [Option ID = 43910]
2. informal operational stage./GﬁﬁWﬁWﬂ [Option ID = 43909]
3. formal operational stage/mm [Option ID = 43907]

4. preoperational stage./mﬁv'qlﬁ@ﬂ [Option ID = 43908]

Correct Answer :-
« concrete operational stage.ﬂﬁ?%qﬁw [Option ID = 43910]

17) According to progressivists:

wfaanfeal & gAR:
[Question ID = 18448]

1. frequent objective testing is the best way to determine what students know/ dR-gR fopar G‘%‘x’q TRIE0 T8 fRuffea B &1 T8 a1 T w1 % IEZEIE
! 1 U 81 [Option ID = 43784]

2. students learn best from what they consider most relevant to their lives/@T 30 siia & T R TR 3ifirep Iuarh AFG &, 340§ oY diwa 7
[Option ID = 43786]

3. student interests should not be allowed to take time and attention away from the academic curriculum/ST P St ﬁ, I gAY 3R & B
SHBTCIS UIAHT A R o o BI SFAR T8l < S =figul [Option ID = 43785]

4. there is a common body of information that all students should know/¥=-T P T ]%W % S B P gar g anfiul [Option ID = 43783]



Correct Answer :-

« students learn best from what they consider most relevant to their lives/ST 30 S & 1T R Jo 1f¥res Iuarht A 8, I & 3ifdes Fad 71
[Option ID = 43786]

18) According to the report, 'Learning Without Burden’, classroom knowledge assumes total independence from the child’s own
experience and knowledge of the world. As a consequence of this de-coupling, children begin to compartmentalize knowledge into two
categories:

“Rig f37 1 S &' & uldeT & IR, FETTT I 9= F S0 SUT R IR & 719 A qula: Tad ar forn wiman 81 39 Rgmer & aRomraey,
= T B o A § SuwfEd B uRY IR 34

[Question ID = 18407]

1. that which is valued as knowledge and the other which is not valued as knowledge/ 3 &1 ST & =1 & Hg@yqul AT 14T § 3R gERT St g9 & =0
WH@TWW | [Option ID = 43622]

2. that which is valued at school and the other which has relevance outside the school/al o/ farmer & HEE‘E[UTFI'FIT T 3R N et faemes & R
URifIedT 81 [Option ID = 43618]

3. that which is meaningful and the other which is not meaningful/?:ﬁ S fob ardes % 3R N S o e q’s“r%| [Option ID = 43616]

4, that which is burdensome and the other which is not burdensome/aY St SIf3TeT & 3R gERT STl S &t 21 [Option ID = 43620]

Correct Answer :-

« that which is valued at school and the other which has relevance outside the school/aY fr faemea & Tyl amT T 3R g o faamea &
TER WRITedT 81 [Option ID = 43618]

19) According to NCF (2005), Critical Pedagogy provides an opportunity to:

T (2005) F AR, AT ITHD AT AR 3GER UG BT 8:
[Question ID = 18420]

1. Reflect critically on issues in terms of their political, moral, economic and physical aspects/Teifadm, Afdw, e iR ARe usgslt & T A g
A PT [Option ID = 43675]

2. Reflect critically on issues in terms of their political, religious, physical and moral aspects/RTSIifdd®, ?JTIﬁE, RIS 3R Afaw ‘Eﬁsﬁ F T o i A
DT [Option ID = 43673]

3. Reflect critically on issues in terms of their political, social, economic and moral aspectsRITrF-ﬁﬁE, ?ITFHW, anfifes 3R A tl’s!@&ﬁ P e ¥ fifd7 7
W1 [Option ID = 43671]

4. Reflect critically on issues in terms of their political, social, impressionistic and physical aspects/Teifaes, T, e, THIEArd ok RIS uagsit
¥ T B fric B &7 [Option ID = 43677]

Correct Answer :-

« Reflect critically on issues in terms of their political, social, economic and moral aspects/Toi{ae, TS, e SR Afdw Tggsl & Jouf 7 g
%A PT [Option ID = 43671]

20) According to Freud, the different types of anxiety are:
1. Neurotic Anxiety

2. State Anxiety

3. Moral Anxiety

4. Reality Anxiety

WIaS ¥ IR, R & e vor €
1. fafére fRian

2. a1 fiar

3. Afae e

4, greafaear | It fian

[Question ID = 18427]

1.1, 3 & 4 [Option ID = 43700]
2.1, 2 &4 [Option ID = 43698]
3.1, 2 & 3 [Option ID = 43696]
4.2, 3 &4 [Option ID = 43702]

Correct Answer :-

« 1,3 &4 [Option ID = 43700]

21) Arrange in sequence, the stages of cognitive development as given by Jean Piaget.

i @S ¥ R Y T WS BT % 90N B e T § afRid $i



[Question ID = 18432]

1. sensorimotor, preoperational, concrete operational, abstract operational/&dg-Usitd, Ud Wfthareres, I Tftharatas, s Tfgsarerd [Option ID = 43722]

2. sensorimotor, preoperational, concrete operational, formal operational/ddg-u=id, @W @W 3= Tfehamee [Option ID = 43724]
3. sensorimotor, preoperational, formal operational, concrete operatlonal/ﬂa—q’ ﬁ-‘lﬁq, Q\Tfﬂﬁﬂw, Iu=aies Sifrarere, Iljf Sfharas [Option ID = 43720]
4. formal operational, sensorimotor, preoperational, concrete operationaI/GﬁWW WW, @E-ﬁ'—‘?ﬁﬂ, @ \Lil?bl-lld-ldo, 11?f fharE® [Option ID = 43719]

Correct Answer :-

« sensorimotor, preoperational, concrete operational, formal operational/&dq-U=ita, gd Tfsrareres, Td Afharetes, Siiv=nie Wfharere [Option ID =
43724]

22) Which program seeks to open new schools in those habitations which do not have schooling facilities and strengthen existing school
infrastructure through provision of additional class rooms, toilets, drinking water and also has a special focus on girl's education and
children with special needs?

BT T PTHH I QTG A TC Wil B Grerr aredn 8, R wpeht fRian Y ghwr 78 € ok sifafvea sanai, e, §3 & ot & urau= &
R HiS[ET Wpd B TET $I ogd Hdl 8 94T Ry & A asfeal ot Rign ok IRy svewal arat a=if W Ay &3 31 82 [Question ID =
18494]

1. Sarva Shiksha Abhiyan (SSA)/d fReT ST (T8 TH T) [Option ID = 43967]

2. Rashtriya Madhyamik Shiksha Abhiyan (RMSA)/ 18T Hrediies fRi&f 31 (3R TH T¥ T) [Option ID = 43970]

3. National Curriculum Framework (NCF- 2005)[{'@?1 TGu= ] SO (Qﬂ?ﬁ(fq'? 2005) [Option ID = 43969]

4. Right of Children to Free and Compulsory Education (RTE, 2009)/f:S[e 3R ifarf f1en & g s=at o1 3feR (3MRETE, 2009) [Option ID = 43968]

Correct Answer :-
« Sarva Shiksha Abhiyan (SSA)/9d fRief 3if¥amM (T¥ T W) [Option ID = 43967]

23) With reference to Edgar Dale’s Cone of Experience, arrange the following in increasing order of abstraction:

Frafafed o) teTR 30 & SqUT-RIP F TR T b gea v W srafeud s
(i) Contrived Experience/Udheud sHd

(ii) Demonstrations/Wex{=

(iii) Dramatic Participation/ JTC® 1T GgHTRYaT
(iv) Field Trips/&= armd

[Question ID = 18435]

1. (iii) (i) (iv) (ii) [Option ID = 43730]
2. (ii) (iv) (i) (iii) [Option ID = 43733]
3. (iv) (ii) (iii) (i) [Option ID = 43731]
4. (i) (iii) (ii) (iv) [Option ID = 43728]

Correct Answer :-
o (i) (iii) (ii) (iv) [Option ID = 43728]

24) In the modern system of Education, which thinker brought about a paradigm shift regarding the place of the child?

fRrenm 31 sy ol A 5w faRe 3 99 & WM & IR § TYagd yRad- @ BT 19 fHar? [Question ID = 18419]

1. John Dewey/ S €43 [Option ID = 43666]
2.1.1. Rousseau/ﬁ. . =9 [Option ID = 43668]

3. Mahatma Gandhi /HgTeT Tt [Option ID = 43670]
4. Plato/wiel [Option ID = 43664]

Correct Answer :-
« J.J. Rousseau/Sl. &, =11 [Option ID = 43668]

25) In the famous analogy of education to plant life, where children are likened to plants and school to a garden, the process of education
becomes one of:

fRrem &1 gRufa s A TUFT BT URiE STAT s g= &) diel ok ¥od &1 T @i & U & 71 a7 8, 398 Rign &1 ufthar a9 ot  v:
[Question ID = 18393]

1. making external response as effective as possible/STg<t Ufcfsrar P GYRIHT YU T Pt [Option ID = 43560]

2. making explicit what was potentially implicit/ﬁﬂ-ﬂﬁﬂ 3T DI T I DI [Option ID = 43566]

3. ensuring a highly stimulating environment for the development of children/a=l & A & T U SIS I aTaravol ﬁﬁf&]ﬂ HA arelt [Option ID
= 43564]

4. organizing desirable inputs-knowledge, skills and attitudes to achieve desirable ends/ TT&-Ia FA-H, BT R g & STESH GRT AT 3id B
T 63 aTelt [Option ID = 43562]



Correct Answer :-
« making explicit what was potentially implicit/SHTfad 3{eqad &1 &9ad &= &1 [Option ID = 43566]

26) In the 'Rights of Persons with Disabilities Act, (2016)’, which of the following statements/ideas is not true with respect to provisions
to be made by educational institutions?

e it rfifaam, (2016) & SFER Fufef@a wyl/faRt & ¥ 19 1 faaR Rigor Twam=l & Yoy § 59 sifufoaw @ wafta a6t 82
[Question ID = 18458]

1. Detect specific learning disabilities in children at the earliest and take suitable pedagogical and other measures to overcome them/a=l § STeg ¥ Sleg
TRy SifeRTH fa T 7 TaT AT 3R 31 IR H1g UH & T Suged Qe 3T 317 JUr FHRAT [Option ID = 43826]

2. Provide reasonable accommaodation according to the individual’s requirements@ﬁﬁ B ATEHATA & SIHUR 3 Td SMAN &M BT [Option ID =
43824]

3. Provide reservation in jobs in organizations around the educational institution/ Rf&r® TR | TS WiTe # THRAT T SR YEH BT [Option ID =
43823]

4. Make the building, campus and various facilities accessible/ Ha, TRTR 3R faftrm ﬁﬁ?ﬂ'q gAY §-MT [Option ID = 43825]

Correct Answer :-
» Provide reservation in jobs in organizations around the educational institution/ Qe TRF I \_{]3 et | et § 3RE0T UeM B [Option ID =

43823]
27) Both Gandhi and Dewey lay emphasis on the importance of truth but for Gandhi, it is only a step in the realization of
truth.
el ok = | A TG & U W WK g § fhg mih & SR, as ™ & 1Y T had TH °0 81 [Question ID =
18471]

1. relative; experimental/ﬂ'l'a&f; TS [Option ID = 43876]
2. relative; practical/ﬂﬁf&[; CHITGD [Option ID = 43875]

3. relative; absolute/|Tdef; Ui [Option ID = 43878]

4. relational; absolute/Js8qRd; Ui [Option ID = 43877]

Correct Answer :-
« relative; absolute/ﬂTa&‘[; IIUT [Option ID = 43878]

28) Central to a classroom, in which the pedagogy used is based on Critical Theory, is:

fore wam & fRan-zmea S Rigia F ywfa Sar g, SHS I A &:
1. Autonomy/ITaxidl

2. Freedom/<ad=dT

3. Self-Realization/ 3T&Tale]

4, Justice/S™a

[Question ID = 18478]

1.1, 2, and 4/1, 2 3R 4 [Option ID = 43903]
2. Only 4/&ad 4 [Option ID = 43906]
3.1and 2/ 1 3R 2 [Option ID = 43904]

4,1 and 3/ 1 3R 3 [Option ID = 43905]

Correct Answer :-
« Only 4/3%9d 4 [Option ID = 43906]

29) Rabindranath Tagore’s idea of education is:

gy TR F = & e &:
[Question ID = 18459]

1. Education for liberation /S=dadT & feg fRI& [Option ID = 43829]

2. Education for human making /W—ﬁ'ﬂfUT % fer e [Option ID = 43830]
3. Education for all /4T & forg fRref [Option ID = 43827]

4. Education for fullness/<qufar & fere fRremm [Option ID = 43828]

Correct Answer :-
30) Learning theorists believed that we must look to the social environment for the source of linguistic pattern. According to them,
language is primarily shaped by others through:



ST Rigiae Rt &1 a1 41 fos g1 uTarht wfoms & waa & g arafore afvasr wR sawa e 31 91T S99 SaR YNl %1 &0 9 gEkl &
GRI___ A PR A &1 [Question ID = 18431]

1. Trial and Error/UaT 3R ZT? [Option ID = 43716]

2. Insight learning/ 3id=f® 3ifATH [Option ID = 43718]

3. Classical conditioningmﬁq &Ii’dEF-T [Option ID = 43712]

4. Operant conditioning/ m—qﬁﬁ 3¢ [Option ID = 43714]

Correct Answer :-
« Operant conditioning/ ﬁﬂﬂ-ﬂﬁﬁ 3 [Option ID = 43714]

31) The words which best sum up the procedures of a school based on the ideas of John Dewey are:

e Wl W9 343 & AR} W nutiva Toa &1 uftrarsi &1 9ad a1 YU $3d §, 9 §: [Question ID = 18412]

1. Freedom, virtue and hypotheses./Id=dl, 9GRIR 3R IR [Option ID = 43639]
2. Discovery, virtue and hypotheses./ @Trr, YR 3R uReear [Option ID = 43645]
3. Activity, discovery and freedom./ TIfafafd, TSl 3R T [Option ID = 43641]

4. Hypotheses, activity and virtue./af&@ o, Tifafafer 3R FeRR [Option ID = 43643]

Correct Answer :-
« Activity, discovery and freedom./ TITafaf¥l, WS 3R T@di=IdT [Option ID = 43641]

32) In Ordinal data, categories are rated where a higher score indicates a better rank. Which of the following averages are preferred
when data is presented in an ordinal scale?

TP PHgES difee H, Aoral t Fruifva fear simar 8, Sei Te 3= i Us 3ga) US &1 7 a1 3| 99 Siihs HHIHS ATu-t § gd frd T g a9
ﬁaﬁ@aﬁﬁmaﬁm?ﬁm%? [Question ID = 18445]

1. Mode/Sgdie [Option ID = 43773]
2. Mean/HT¥] [Option ID = 43771]

3. Median/HTT&reT [Option ID = 43772]
4. Range/ GRER [Option ID = 43774]

Correct Answer :-
« Median/HTfe&IeT [Option ID = 43772]

33) “We rob the child of his earth to teach him geography, of language to teach him grammar. His hunger is for the epic, but he is
supplied with chronicles of facts and dates. He was born in the human world, but is banished into the world of living gramophones”. Who
said this about learners and the curriculum?

g9 91% B YA UM & B § UsHR Y B9 A §; 601 UgH & Y ITS WINT B9 A §; IS YT BT & o 8 frg 39 J9@ e
T 3R faftrdt @ wy-¥ e U $% 3T W 8| STee o174 Y A € |- SFId §, TR g0 S Siifdd ATMeI & ST § gdhd ad 817
Sfprawatal 3T ureaswd ¥ TR A TaT b wer?

[Question ID = 18411]

1. Tagore / TR [Option ID = 43632]

2. Rousseau / ¥4I [Option ID = 43634]

3. John Dewey/ S S48 [Option ID = 43636]

4. Bertrand Russell/ TS A [Option ID = 43638]

Correct Answer :-
« Tagore / TR [Option ID = 43632]

34) How is deaf culture (such as language, values and customs) generally passed on from one person to another?

IR APl (S wT, e, Sfa-Raren) arue: f5a yeR te safe I gat aafed 9o gwaiaiRd gidt 82 [Question ID = 18490]

1. Deaf culture is not usually passed on/afR W YHF: AR T8l gt [Option ID = 43954]
2. Parent to child/ 3ifHTa® § §= &I [Option ID = 43951]

3. Peer to peer/ TEUTS! ¥ TGUTST &1 [Option ID = 43952]

4. Child to parent/STai® ¥ fYHTGH BT [Option ID = 43953]

Correct Answer :-

« Peer to peer/ YgUTS! T WEUIS! B! [Option ID = 43952]

35) Bertrand Russel believes that while philosophy diminishes our feeling of certainty as to what things are, it also:

WS TG BT 91 ¢ b oiel axfa, N9 Saft € & ar & Fifdyaar $1 ergyfd ®) &9 o3 a1 8, a8 U8: [Question ID = 18473]



1. strengthens the grip of custom and dogmatism/mﬂ\’rﬁ 3R gouftar st Jhs Eall HoIgd HRdl g [Option ID = 43885]

2. gives us certain knowledge/ g PS A G [Option ID = 43883]

3. raises no uncomfortable questions/®Ts 3YAUTSTH U gl ITdT [Option ID = 43886]

4. increases our knowledge of unfamiliar and liberating possibilities/3MfRfed 3R Yad TyraAreft & IR H gAR I BT Fgral 7 [Option ID = 43884]

Correct Answer :-
« increases our knowledge of unfamiliar and liberating possibilities/3MRfId 3R Tad THTaTS % TR H §HR I B Fe1dl § [Option ID = 43884]

36) A student receives a phone call in the presence of the entire class, causing disturbance to teaching. The teacher reprimands him and
gives him homework which is double that given to his classmates. Subsequently, in the future, the student ensures that he puts his mobile
on silent mode during classes. This is a case of:

TS B T BET S AT B 31 TR ITd BT 8, S RS B ST P &al ¢ | g 39 T & F 0H- BedR Tl § 3R 39 3=
TEUISEl P ga1 § SRMET YeeTd a1 81 uiasy § o= R war § % 98 3ua Marsd $ AR & T0g i 3[awIT § 7|1 98 8: [Question ID
= 18428]

1. negative punishment/THRIHD qUS [Option ID = 43709]
2. negative reinforcement/FhRIHD Udc- [Option ID = 43705]
3. positive punishment/IHRIHD GUS [Option ID = 43707]
4. positive reinforcement/IhRIHD Ul [Option ID = 43703]

Correct Answer :-
 positive punishment/dhRIHD qUS [Option ID = 43707]

37) Critical pedagogy in education seeks to:

eI g, Rram & & & =redr 8:

i) cement and strengthen the established social order /T ARG TRITHH BT 3R Tolgd TUT WAATIT HIAT
ii) address the relations of power and inequality in society/THTS # e 3R SRTATIAT & Heeh B Jaa Hm

iiii) promote cultural hegemony/IRGfa® TG HI FeTaT 3T

iv) liberate students from oppression/%‘ﬁﬁ Ed| B?ﬂS:l J SATeITG BT

Which of the following is correct?
i} s arad 82
[Question ID = 18408]

1. i) and iv) [Option ID = 43624]

2. i), iii) and iv) [Option ID = 43628]
3. i), i) and iii) [Option ID = 43626]
4. i) and ii) [Option ID = 43623]

Correct Answer :-
« i) and iv) [Option ID = 43624]

38) As recommended by the National Curriculum Framework for Teacher Education, the functions of teacher educators lie in developing
perceptions of teachers with regard to?

e Rian & g Wit wrew=at Y wovar g1 & Wit srgRienell % SguR, e uliaret w1 ot 6 yrons @t el s 82
i. Educational practices/3fér® 3rary

ii. Educational processes/ﬁf&lﬂiuﬁ)‘qﬁ

iii. Educational program/mfﬂfhm

iv. Educational objectives/if&i® 3g2g

Which of the above options are correct?

SR R T el # @ B9 9 22

[Question ID = 18385]

1.1, ii, iv are correct/ i, ii, iv &1 & [Option ID = 43530]
2. i, i, iii are correct/ i, ii, i el %‘ [Option ID = 43528]
3. i, iii, iv are correct/ i, iii, iv TG g [Option ID = 43532]
4. ii, iii, iv are correct/ ii, iii, iv ?@% [Option ID = 43534]

Correct Answer :-
e i, ii, iv are correct/ i, ii, iv FIB‘T% [Option ID = 43530]



Rashmi and her father are visiting a museum of Natural History. Rashmi has the knowledge of an animal called camel. Upon seeing a
Llama, she says, ‘See, the camel’ and her father replies, ‘No, that's not exactly a camel as it does not have a hump’. The child says ‘Oh! I
see.’ This example demonstrates:

I 3% TP T wpfae SfagT TIRTAT BT YHUI B 1 &1 TIAPT S B o ard U &b q1X & SId] 8 | AT B STHR 98 e 364! @ ‘Tt
S| 3 far qa1d § 7% a5 araa A Se 78 3, Tl IW TR & TS 781 8| TMAPT Do ¢ 315! H 3@ W6 § I§ SAI6TV GTaT & [Question
ID = 18487]

1. Accommodation/ FHH 1 [Option ID = 43940]

2. Conservation/IR&U BT [Option ID = 43941]

3. Object permanence/d¥g RIRIE &1 [Option ID = 43942]
4. Assimilation/3{TEETGBRUT & [Option ID = 43939]

Correct Answer :-
« Accommodation/ THH I [Option ID = 43940]

40) In learning through activities, the child comes in direct contact with the real world through:

forarerarl @ Wem &, g Fafuled & @ frae gR1 arRafd® sId & 91y @) Judb & o ST 8:
[Question ID = 18415]

1. Factual information provided by the experts through the textbooks/ UTad Q&ies! & A1 ¥ fa=iwml §RT U™ &1 7S aRdided SHBRT [Option ID = 43649]

2. Facts being verified in the laboratories and classrooms/SaNTRTaT3f IR wemaft F Tt o1 JA Y S [Option ID = 43652]

3. Actual experiences and the tackling of practical problems by using knowledge/w 3gHg 3R TR gaEel ¥ fAued & for 319 & wan [Option
ID = 43648]

4. Actual experiences in the laboratories and school garden/ TANTRITESH 3R feTery SaM # IRafd® ST H WG [Option ID = 43653]

Correct Answer :-

« Actual experiences and the tackling of practical problems by using knowledge/arafad 3Ha 3R TR THwWISH ¥ Fued & forg 71 & v
[Option ID = 43648]

41) The average percentage of marks at the senior secondary level of a particular Education Board have been increasing steadily over the
years. This indicates:

T fadiv Rren 1€ & = Areafire W W i ufawrd 9Td o} 9Td 9¢ 36 81 U8 94Tt 8: [Question ID = 18440]

1. An increase in the peakedness of the normal probability curve./SETHTI JHTGT dsh CARREERGIR:] 'q’@ [Option ID = 43755]

2. A rightward shift of the measures of central tendency on the normal probability curve./SRITHTRT FHTEHT G TR ST S & IUTI! BT GIig 3R daard
[Option ID = 43757]

3. Increase in the pass percentage of students.ﬂ'ﬁﬁ P I wfara & ?1'@ [Option ID = 43753]

4. A leftward shift of the measures of central tendency on the normal probability curve./JETHI THIGHT dsh TR Fdlg 3 & Ut B Elpifein EiCac)
[Option ID = 43751]

Correct Answer :-

« A rightward shift of the measures of central tendency on the normal probability curve./SRTHTI FHTGT I TR Heid S & IUTH! BT &lfel 3R
SETa [Option ID = 43757]

42) It was the that precipitated the decline of principles of learning/instruction as an approach.

Tg YT fo SURH & =0 # 3w & Rigia & ua= &1 Suen
[Question ID = 18382]

1. study of associated word lists/Sfad qreq ?Eﬁ DI HYY [Option ID = 43525]
2. study of brain’s functioningmﬁﬁﬁ Pt W—T&'ﬁ T ALY [Option ID = 43519]
3. study of mazes / 'lﬁﬂjﬁtﬂﬁ Y [Option ID = 43523]

4. study of language acquisition/ HTST TTGUT ST LTI [Option ID = 43521]

Correct Answer :-
« study of language acquisition/ HTST SRR T g [Option ID = 43521]

43) The truthfulness of rational knowledge is proven by referring to the theory of:

THITT T F) Tt & frsra ¥ wieH # R 91 B: [Question ID = 18386]

1. Coherence/ dIdT [Option ID = 43537]

2. Utility /S9AYCT [Option ID = 43541]

3. Consequence/UﬁUﬂ'q [Option ID = 43539]

4. Correspondence/3{J=UdT [Option ID = 43535]



Correct Answer :-
« Coherence/ Hdaddl [Option ID = 43537]

44) In Upanishadic dialogues, the onus of asking questions lies on the:

Iufug Warel ®, WY Y@ $T 31 8: [Question ID = 18373]

1. Most intelligent student /Hﬂﬁ Tg'@'ﬂ'l’—[ BT WR [Option ID = 43486]

2. Both teacher and student/fR1&f® 3Tk BT I TR [Option ID = 43484]
3. Students/®T WR [Option ID = 43480]

4. Teacher/GurufoT&ﬁ/ﬂ?W [Option ID = 43482]

Correct Answer :-
o Students/sTH UR [Option ID = 43480]

45) Child-centered curriculum is based on:

qA-HSd UTSTHH MUTR &: [Question ID = 18403]

1. only discovery./ad @ISl TR [Option ID = 43602]
2. only dialogue./av_dﬁ Tadd W [Option ID = 43604]
3. only activity./m TIfAfaf TR [Option ID = 43600]
4. All of these / Tt faded [Option ID = 43606]

Correct Answer :-
« All of these / T3}t fd®<d [Option ID = 43606]

46) The basic principle of gender equality refers to:

AT T BT gfaTd) Rigia Wefifa &: [Question ID = 18389]

1. All men being treated equal to women/T*t G¥u! ¥ Afgasil % SRI&R ATGR H [Option ID = 43545]

2. All human beings having equal rights and opportunities/ Tt T & T RBR 3R 3GTR & [Option ID = 43549]
3. All women being treated equal to men [t nfganait @IQ’S@T% TR TaeR A [Option ID = 43547]

4. All women being treated equally/?ﬁ-ﬁ afgarstt § gAF 0 Y TagR | [Option ID = 43544]

Correct Answer :-
« Al human beings having equal rights and opportunities/ Tt Fs & THF HfIHR 3R 3@WR H [Option ID = 43549]

47) Assertion (A): Philosophy, in comparison with Psychology, provides a more reliable base for the theories related to education.
Reason (R): The base of Psychology is inductive logic, but of Philosophy, it is deductive logic

Y (A): T BT ga1 & o=, Rren-iddht Rigial & forg siffre fayeig smyR Suass s 81
BHIROT (R): AATI BT TR STHATHS P §, SIafe ¢RI+ BT (SITHTH® a5 | [Question ID = 18472]

1. A'is uncertain and R is correct but R is not the correct explanation of A./A 33 & 3R R TEt § =g A &1 Tt =g R 7t 21 [Option ID = 43882]
2. Ais correct and R is incorrect./A Tgt § 3R R TTad 3| [Option ID = 43881]

3. Both A and R are correct but R is not the correct explanation of A./A 3R R ST wE % ﬁﬁ A ! TE e R e B [Option ID = 43880]

4. Both A and R are correct and R is the correct explanation of A./ AR R H RE| %‘ 3R A B el AT R %I [Option ID = 43879]

Correct Answer :-
« Ais uncertain and R is correct but R is not the correct explanation of A./A 3y % 3R R gl % m A & gl SRaAT R :|B°f%l [Option ID = 43882]

48) The term ‘Paradigm Shift’ was first introduced by: /X 'ﬁ?ﬁﬁ'ﬁ R # fraa warfaa fear: [Question ID = 18483]

1. Basil Bernstein/afRre S [Option ID = 43923]

2. Thomas Samuel Kuhn/41qd YU P [Option ID = 43924]
3. Albert Einstein/3fes¢ 339 [Option ID = 43926]

4. Karl Popper/mtﬁﬂ? [Option ID = 43925]

Correct Answer :-
« Thomas Samuel Kuhn/2Ta qYud $e [Option ID = 43924]

49) Multiple - Choice type items can be useful to know:

gfawed! usl ST W I8 991 § YeT® 81 Johal 8: [Question ID = 18470]

1. the evaluator’s evaluative potentials/Jeaid-dbi Bt Yedidh TS BI [Option ID = 43873]
2. truthfulness of the learners’ knowledge/fa=nfifal & 1 @t UrHTOMBT &1 [Option ID = 43874]
3. the learners’ thought process/ﬁ?l'lm P M &1 fehan [Option ID = 43871]




4. the strengths and weaknesses of learners/ it ) it oik HHenfikal &1 [Option ID = 43872]

Correct Answer :-

50) Collaboration among colleagues is an important aspect for inclusive education in any educational setting. Which of the following
would you relate with defining characteristics of collaboration?

TePpifal & i wea fad o e aF A grraRht Rien F e v geayef s § 1 TEahT & wikyiiia H arel faRtwarsit # enu g 7 § foraet
Tdftrd 9a 82 [Question ID = 18449]

1. Decision making should always be with one person during collaboration and accountability should be shared./SgaIT & JHT Ui A HT & A2 TH
e & U1 B A1eY 3R STaTace! ITE B ST FIeT [Option ID = 43790]

2. Collaborators should share their resources and expertise./%tﬁﬁtﬁ P 3T TTYAT 3R faRanet o TR AT A1 [Option ID = 43789]

3. Collaborators should have separate goals for the same thing they are collaborating for./TgaNt i/ Ter &1d & T TgalT o2 @ 8, I9& e 37 aed
S[TT-31ET g dTfed | [Option ID = 43788]

4. Contribution of everyone should not be based on parity./8R {5l &1 TG THaT TR &l 811 ANMTTI [Option ID = 43787]

Correct Answer :-
« Collaborators should share their resources and expeﬂise./ﬂ%W BT 3T TTeAT 3R faRroranstt &1 GIEICESIEEIRHY] [Option ID = 43789]

51) Article 16 of the Constitution of India guarantees:

YR AT BT D¢ 16 TATHfd HaT 8: [Question ID = 18397]

1. Equality of opportunity and employment for men and women/J8I 3R AfgaTaff & T 3R 3R ASHIR B FHGT [Option ID = 43576]
2. All of these / It fa@ed [Option ID = 43582]

3. Right to political participation by women/Afgarsil @t Ieifdd UrieRt &1 SifieR [Option ID = 43578]

4. Right to education for all children/d =t o forg fRrafm 71 AR [Option ID = 43580]

Correct Answer :-
 Equality of opportunity and employment for men and women/ﬁ??‘?ﬁ 3R Afgeeit F T SawR 3R ASHIR Bt THMAT [Option ID = 43576]

52) Universal Design for Learning (UDL) does not consist of the following element:

gfadda fewrEa wiv af+-fr (ubL) & FafifEa o aftfe T8 8:
[Question ID = 18482]

1. Alternative modes of responding/ ufafsear & Jbfre Trem [Option ID = 43921]

2. Alternative modes of presentation/‘;lﬁﬁf F Jpfee e [Option ID = 43919]

3. Designing instructional plans for making education accessible to diverse learners/fafay frenffat @t Rrenm q EIEVE[ Ty ¥ & fore Gﬂﬁﬂ:[ IS F9FT
[Option ID = 43922]

4. Similar way of participation/ HRTiGRT % HH aRldb [Option ID = 43920]

Correct Answer :-
« Similar way of participation/ HTGR & FH dXid [Option ID = 43920]

53) Buber’s I-Thou relationship is marked by:

qaR BT H-gH daY 3ifpd ghar g
[Question ID = 18404]

1. mutuality, independence & humbleness and respect for power of others/TR¥E T, Tc=AdT T THdT 3R GERI B! WfF P Ui T F [Option ID =
43611]

2. mutuality, existence & direction and an acknowledgement of others/WﬁTcﬂ, &I T fomm 3k §¥R" 4| G@W?{ [Option ID = 43607]

. presence, warmth & love and independent imagination of others/JUfRUfd, I8 T WR 3R GURT B WA 3ifHed=T I [Option ID = 43609]

4. agileness, abruptness & love and independent imagination of others/<ddT, HTATHAT T UH 3R TERI BT W ATHHT F [Option ID = 43613]

w

Correct Answer :-

« mutuality, existence & direction and an acknowledgement of others/TREIRadT, 3ifKTd T faxM 3R gORY 3T ifRfiwfa A [Option ID = 43607]

54) Paulo Freire educated poor farm workers in his native country, Brazil, in order to help them improve the conditions in which they
lived and worked. His approach to education may be called:

IEl Y 7 U RAFIT Feiie 331 & W B & qeigel 31 R far 3 fRufeat § gur o= F Rorg s 3 vd 3 ok o o A1 Rian & ufa
I =FBIUT B HET ST HdT @: [Question ID = 18466]

1. Constructivism/Xd-TdIq [Option ID = 43858]
2. Social Reconstructionism/wmm EflﬁquT [Option ID = 43857]



3. Progressivism/ ATfa=ierdT [Option ID = 43855]
4. Essentialism/dTfd@arg [Option ID = 43856]

Correct Answer :-

« Social Reconstructionism/JTHTo TAFHTT [Option ID = 43857]

55) A child’s notebook shows errors in writing like reverse images, mirror imaging, etc.
Such a child is showing signs of:

TS 9109 B dEIYRIT (eg®) SHS aa- # faudw ufafds, ufafaraa St gfeaf oufd &
v aras Fafiaf@a @emr gxifdr 8: [Question ID = 18480]

1. Learning problem/ 3{fFTH HT ®T [Option ID = 43912]
2. Learning disadvantage/ 3ffeRTH &fd &I [Option ID = 43914]
3. Learning disability/31ferma ST HY [Option ID = 43913]
4. Learning difficulty/3ffeTH PHIEE B [Option ID = 43911]

Correct Answer :-
« Learning disability/3faFTH 3f&TdT HT [Option ID = 43913]

56) A child is repeatedly comparing the size of his cake with that of his siblings. Montessori saw such repetitive behavior as an indication
of:

TP TT IR-TR 30 P & MHR B ol U= UTS-96] & $P & PR S 1Y B T61 8 | AT F AR 9 96 & AdeR Bt TARad! guiial
2: [Question ID = 18374]

1. Selfish interests and paranoid tendencies that education has to challenge./ZaTdf fRdt 3iR THIETH 1 Ty R e o1 A 1 R 1 [Option ID = 43487]
2. Blocked mental abilities that education had to improve./mfﬂﬁﬂﬁﬁﬁ e forg fRam & JURAT USTI [Option ID = 43491]

3. Spontaneous exercise of the capacity to demand personal welfare./AGaTd HedTOl BT AT F foTQ ear o1 Tgorar ¥ wa| [Option ID = 43493]

4. Spontaneous exercise of the capacity to make quantitative comparisons./HATH® T TM & T emar &1 T v [Option ID = 43489]

Correct Answer :-
« Spontaneous exercise of the capacity to make quantitative comparisons./ATATE® T S o foTT &FdT &1 Agsl TARTI [Option ID = 43489]

57) National Curriculum Framework (2005), Position Paper on Work and Education defined generic competencies along three dimensions.
Which of the following is not the correct definition?

P UTSTTAT P FUET (2005), T 3R &M TR MUK 07 A W= gerarsii St = smarat § uRefia fvan) o & & o1 @ a8t v =51 82
[Question ID = 18377]

1. Basic competencies relate to the personal attributes necessary for undertaking any task/HaYd G&drd faaTd faRvarstt ¥ afid €, S faht ot wrf &
Y& A & foY 31aRads gt § [Option ID = 43495]

2. Interpersonal competencies relate to the social aspects of any task/OREAR® et @@1 e fardt oft Bl & o U’s@&ﬁ  Haiftd gt % [Option
ID = 43499]

3. Systemic competencies relate to the capacity for working in changing contexts/SUTelITd G&idr TaHf B Se H HTH R B & I Jefd gl &
[Option ID = 43501]

4. Complex competencies relate to the skills necessary to undertake any complicated task/<ifed AN MTaTD BN O Fafird %, S fpdt ot Sfea ord Y
& B3 P fo1Y 31T gl & [Option ID = 43497]

Correct Answer :-

« Complex competencies relate to the skills necessary to undertake any complicated task/SIfed GadTd TALad Bl § Jafid §, ot it +f wifed o
B Y& PR P AT ATTH Bt & [Option ID = 43497]

58) “Can the mind, so heavily burdened, resolve completely, not only its conditioning, but also its fears”? Who said these words?

o T YT S5t A 91 g3 B, T v A FRIER0 o Ul 8, 7 $ad 39P H A &I, afedp 39P 3¢ BT W2 T 71sg fHUA F82 [Question ID =
18394]

1. Montessori/Iﬁ%W [Option ID = 43567]

2. Froebel/WhIUsd [Option ID = 43569]

3. Sri Aurobindo /4t 3Rfdg [Option ID = 43573]
4. 1. Krishnamurti/@r?mﬂﬁ [Option ID = 43571]

Correct Answer :-
« 3. Krishnamurti/st Ejv"SUIHﬁ [Option ID = 43571]



Mote: Based on the data given below, answer guestion

#id Ry w1 siwst & araC W oW % IUC &

Gross Enrolment Ratio {GER) 2014-15

WA ATHiSA S (GER) 2014-15

Level All 5C ST
wWT asft g =i FgRT sH=R

Male Female Total Male Female Total Male Female Total

S LU O S S I o S - I B I .. wigem 5l
Primary (I-V) 989 101.4 1001 110.7 1132 1119 1106 108.2 109.4
ot
Upper Primary (VI-VIII) B7.7 053 912 972 1055 101 93 952 941

bt

Elementary (I-V111) 948 992 IR 1058 1105 108 1044 1037 104
binie o
Secondary (IX-X) 781 788 785 8l6 B39 827 718 726 722
Senior Secondary (XI- 546 538 54.2 535 553 54.3 398 378 388
Xil)
SFdL
Higher Education 25.3 23.2 24.3 20 18.2 19.1 15.2 12.3 13.7
ag Brar

Source: Table developed from Educational statistics at a glance

{http:/fmhrDgov.in/sites/upload files/mhrd/files/statistics/E53G2016 C.pdf)

Total GER at primary level is greater than 100 across categories. This is because:

fafirr Afor & wryfires TR R $o GER, 100 ¥ 3T §1 U8 § Fife: [Question ID = 18438]

1. Calculation of Gross Enrolment Ratio indicates the total number of students enrolled, irrespective of their age, divided by the number of children of the
age group to be enrolled in primary education./Se&d I UTd 1 TTUFT BT 3 B, faAT og Bt Rare fovu uSlird BE @t Tem &) wufiies fien &
T 1Y o & Sl o1 T § fAuIrd eI [Option ID = 43749]

2. Data presented is raw and has not been scrutinized for errors./SRdd 3Hhs = § 3R FfedT F AT SHA &t Bt 71 B [Option ID = 43743]

3. Enrolment has increased after implementation of RTE Act (2009)./3(Rels ST (2009) & AN 819 & dTc i & 74T 8| [Option ID = 43745]

4. Schools would have reported excess enrolment of students to present a good image of themselves.lwﬁ 3 Yga Pt TP D! BId TG FA F fore ol
e AT Bt gET &1 81 [Option ID = 43747]

Correct Answer :-
» Calculation of Gross Enrolment Ratio indicates the total number of students enrolled, irrespective of their age, divided by the number of children of the

age group to be enrolled in primary education./d®d ATHIGT AT B1 TTUMAT BT 3 B, 3T 3y ) WRaTg by Ushipd B! ) e o1 wrufire fRem o
TH 1Y T & gl B T ¥ Ao H=A11 [Option ID = 43749]



Mote: Based on the data given below, answer guestion
#id Ry w1 siwst & araC W oW % IUC &

Gross Enrolment Ratio {GER) 2014-15

WA ATHiSA S (GER) 2014-15

Level All 5C ST
wWT asft g =i FgRT sH=R

Male Female Total Male Female Total Male Female Total

S LU O S S I o S - I B I .. wigem 5l
Primary (I-V) 989 101.4 1001 110.7 1132 1119 1106 108.2 109.4
ot
Upper Primary (VI-VIII) B7.7 053 912 972 1055 101 93 952 941
Elementary (I-V111) 948 992 IR 1058 1105 108 1044 1037 104
binie o
Secondary (IX-X) 781 788 785 8l6 B39 827 718 726 722
Senior Secondary (XI- 546 538 54.2 535 553 54.3 398 378 388
Xil)
SFdL
Higher Education 25.3 23.2 24.3 20 18.2 19.1 15.2 12.3 13.7
ag Brar

Source: Table developed from Educational statistics at a glance

{http:/fmhrDgov.in/sites/upload files/mhrd/files/statistics/E53G2016 C.pdf)

Which of the following inferences is correct?

i@ o | 19 a1 fsed g 82 [Question ID = 18436]

1. More females than males across categories are unwilling or unable to pursue education after senior secondary level./ Sforat 7, Q'\Fﬂﬁ Eil SEEL T, 31fie
Al IR WAt WR & 91 RI&T H o dgm & ifege a1 s/gwef €1 [Option ID = 43735]

2. No inferences can be drawn as the population figures across categories are unknown./faft AR & SRR & AT S SR § ITIAY BIg STHH et
TN ST Fehall 81 [Option ID = 43740]

3. The percentage of females of ST category at primary level is lower than males whereas the reverse is true for other categories. This is an indication of
strong anti-female bias in tribal population./STfie TR TR YR SNt avf &t Alkarstt &1 ufawa Tt @ ga & o 8, Saie s Aoy & g
@1 31 fAudld U g1 7% nfeardt smardt # wfgansii ¥ faRie Aoigg yafug &1 te Tdhd g1 [Option ID = 43736]

4. The GER of SC is 20 and ST is 15 which is higher than the percentage of seats reserved for them in higher education. This indicates that the purpose of
reservation has been met and reservation policy can be done away with./3FfId SIfd &I GER 20 T 3R SR ST Bt 15 & ST 3= e & 37
fore QRfgra et & vfomra & g # oifiies 31 I8 It € 6 SMREfUT 7 TRiIeH T0ha 6T § 3TR SREUT i BT 31 | f3har S Webe 81 [Option ID =
43738]

Correct Answer :-

* More female§ than males across categories are unwilling or unable to pursue education after senior secondary level./g Blivesi ff, gw‘r P SR ff,
e AfATE I=aR Heaftis TR & 918 e &) oM sgm & sy a1 s/md €1 [Option ID = 43735]

61) MNote: Answer Question based upon the Table given bélow.

dfe: W o= & gue & ot ol ¥ aaaw

Trends in Gender Parity Index (GPI)
i gaar gEwis (shdiang) &t swir

& Primary Secondary Tertiary
EICIEED AT EE E5=1E
2010-11 101 0.88 0.86
2011-12 1.01 0.93 0.88
2012-13 1.02 0.96 0.89
2013-14 1.03 1 0s82
2014-15 1.03 1.01 092

The Gender Parity Index (GPI) is the ratio of the number of female students enrolled at primary, secondary and tertiary levels of



education to the corresponding number of male students in each level. Thus GPI (based on GER) provides a picture of gender equality in
education. The given table represents the GPI at all three levels during 2010-11 to 2014-15. Based on the Table, at which level has there
been consistency towards gender parity in education?

R T YEeTe (Shfens)(GPI) Afar B &) TEI & Iguld # Tde R # 7oV o1 o1 33 e & R fRren & wyfte, arafie ok swa
TR W e oif@d &1 g=1far 81 59 UPR GPI (GER & YR W) Riem & & # A aur=iar &1 g=ifar 81 &Y it wRoft 2010-11 | 2014-15 F i
Tl 7 TR R GPI &1 ufafAftrg @3l 81 IR F 3mUR R Rign & 87 A 5 TR W A% Jurar # fRR41 82 [Question ID = 18443]

1. Secondary/ HTeAfH& [Option ID = 43764]

2. All of these / T4t fa@ed [Option ID = 43766]
3. Primary/ST4f8@ [Option ID = 43765]

4. Tertiary/3=dR [Option ID = 43763]

Correct Answer :-
« Primary/dTyfie [Option ID = 43765]

62) MNote: Answer Question based upon the Table given bélow.

dfe: W g & gue & ot ol ¥ aaaw

Trends in Gender Parity Index (GPI)
o oA gEwis (stfens) & i

5 Primary Secondary Tertiary
EICIEED AT EE 5= r
2010-11 101 0.88 0.86
2011-12 1.01 0.93 0.88
2012-13 1.02 0.96 0.89
2013-14 1.03 1 0s82
2014-15 1.03 1.01 092

In 2014-15, the GPI of primary and secondary level has crossed 1, this indicates:

2014-15 #, UTYfie 3R ATeAf® R F GPI, 1 IR T T ?, T8 fd i & F: [Question ID = 18444]

1. The enrolment is favorable to females in these years./3 auf # ATHiRH, Hfgarai & forg 3% d XETl [Option ID = 43767]

2. The enrolment ratios at all three levels are disappointing./ T4t T TRl & AHiG &1 34rd BREUSEC] [Option ID = 43770]

3. The drop-out of both genders is same at these levels./ 37 TRl TR g1 Tl & fa=mer™ ©ie arel &1 T THIAM g1 [Option ID = 43768]
4. Students are not enrolling at tertiary Ievel./aE] IAR TR W Y T8 A ]| | [Option ID = 43769]

Correct Answer :-
« The enrolment is favorable to females in these years./3 auf 7 TP, nfgerait & forg 3% XET| [Option ID = 43767]

63) Note: Read the passage given below and answer the question
R i & smEEs 9 de 9w F Ry own e so AR
One way of looking at the world as a whole is by means of a map, that is to say some sort of a plan or outline that shows
where the various things are to be found - not all things, of course for that would make the map as big as the world, but the
things that are most prominent, most important for orientation: outstanding landmarks, as it were, which you cannot miss or
which, if you do miss them, leave you in total perplexity. The maost important part of any inquiry or explaration is its beginning.
Az has been pointed out, if a false or superficial beginning has been made, one may employ the most rigorous methods during
the later stages of investigation but they will never retrieve the situation.
AT #F wivar f=E F7 uF ARl AW ¥ AT 3R § sEi 9% eI fT 9T sEar G S ag s
g # e oot w57 s9wew gF0 - o Segd Tg @9 g fF % 99 oWEw g g BeEr o = g
TR, T ¥ 9eqd W7 A9y VAT B o mmw ¥ = ¥ mRw fF & G dwEwm iy ¥ 3 6= aw
BEAT TEN AT AT AfE ¥ gE AW 9r a7 oar seEew i fafy & | o oS g9 owr omme
AU W SHET AT & gT 21 Ay fF 9@ w47 § 9 T awer a=mEaiis qEe oA 946 g,
L O e 1 R e T e - T = L O o e O = T
TQUTET AE W1 EET



What kind of map is the author discussing?

AT 9 TSR ¥ Tl 3 9af R @ 82

[Question ID = 18501]

1. A map where most prominent things and orientations are given./Ud% U&T A forad gad ﬂ%ﬂq:ﬂf Tﬂﬂﬁ ug femy gxifE ¥ [Option ID = 43998]
2. A geographical map with proper directions./@Mcd AFFRE Ifd femmsif fgql [Option ID = 43995]

3. A physical map showing contours./Hifde A Tf@TE gwiidt g5 1 [Option ID = 43996]

4. A religious map showing all religious places/Ud yififer Al gt e =uat & E{ﬂfﬁT@'Gﬂl [Option ID = 43997]

Correct Answer :-

« A map where most prominent things and orientations are given./Td 7 gAfE S ge H’eﬂ‘{[ﬂf aﬂﬁ g femm <wfis 18 %I [Option ID = 43998]

64) Note: Read the passage given below and answer the question
R i & smEEs 9 de 9w F Ry own e so AR
One way of looking at the world as a whole is by means of a map, that is to say some sort of a plan or outline that shows
where the various things are to be found - not all things, of course for that would make the map as big as the world, but the
things that are most prominent, most important for orientation: outstanding landmarks, as it were, which you cannot miss or
which, if you do miss them, leave you in total perplexity. The maost important part of any inquiry or explaration is its beginning.
Az has been pointed out, if a false or superficial beginning has been made, one may employ the most rigorous methods during
the later stages of investigation but they will never retrieve the situation.
AT #F wivar f=E F7 uF ARl AW ¥ AT 3R § sEi 9% eI fT 9T sEar G S ag s
g # e oot w57 s9wew gF0 - o Segd Tg @9 g fF % 99 oWEw g g BeEr o = g
TEAT, T F GEgC W A99 vHE g o oww ¥ ey ¥ wpw # g b dwhe g 3 3 & oaro
GEAT TR0 AEA wEAT AR F gE A 97 @g piwar swEew 7 ¥ ow oawtn G of @w o owEw
AU W SHET AT & gT 21 Ay fF 9@ w47 § 9 T awer a=mEaiis qEe oA 946 g,
LR O o o R e e T B O T = B T O o e P =
TQUTET AE W1 EET

When can the situation not be retrieved?

fRufe # Ta gurT & 51 FFar?

[Question ID = 18500]

1. When the people are not cooperating./SI& TT TGANT gl &< 35| [Option ID = 43994]

2. At the end, as the beginning was superficial./3id &, Fifd THd Tagt 1 [Option ID = 43992]

3. At the end, as the conclusions are undesirable/3id &, aaifer fery 3Iugad g1 1 [Option ID = 43991]

4. In the middle, as the researcher left it incomplete./ H&1 ﬁ, Fife emff 58 S A & @3 H Il 77| [Option ID = 43993]

Correct Answer :-
« At the end, as the beginning was superficial./3id &, Fiifd YH3MTd Adar At | [Option ID = 43992]



Mote: Read the passage given below and answer the guestion

e i &t meEs 9 d aw § R oww e ga &R

One way of looking st the world as 8 whole is by means of a map, that is to say some sort of a plan or outline that shows
where the various things are to be found - notall things, of course for that would make the map as big as the world, but the
things that are most prominent, most important for orientation: outstanding landmarks, as it were, which you cannot miss or
which, if you do miss them, leave you in total perplexity. The most important part of any inquiry or exploration is its beginning.
As has been pointed out, if a false or superficial beginning has been made, one may employ the most rigorous methods during
the later stages of investigation but they will never retrieve the situation.

AT #=T T TR R UF AW oWt ¥ O g & AW U §EI f7 g ser Gemw | ag mier
g #f BfEw aogd wEr gwmew g0 - ot @egd E @@sw & @i o9 mwiEw o R Gear == oar
TR, T F 9vgE 97 99d e &, I gEw % v ¥ uyw # g GOl dwEe sw 3 3 &6F oaw
FEAT AR AT seET i ¥ ogE W av @y yoar awdwm f fufy § w ot & of o9 owowmw
TEETH AW TEET AN & BT 8 %F £ 959 Fr T f 9 Tew gwer wenEeiiE ey # O9T gE A
ar fix = e & wikw B = swe g ff T i e ¥ o= o7 s Ber o w, @ off Bl s
TQUTL A1 FT AT

What is the relation of the map with perplexity?

AMARE $T €T & T GF4 82 [Question ID = 18498]

1. Directions are not shown in the map./ AR 7 e ﬁﬁg EE| %I [Option ID = 43984]
2. The map is not clear./ AT TF =&l §1 [Option ID = 43983]

3. The map is not colorful. /MR T & 81 [Option ID = 43986]

4. Prominent things are not shown./9qd aﬁﬁ EREIERIE] [Option ID = 43985]

Correct Answer :-

» Prominent things are not shown./UHqd a@i T8l EFTI§I [Option ID = 43985]

66) Note: Read the passage given below and answer the question
R i & meEs 9 de 9w F Ry own e o AR
One way of looking at the world as a whole is by means of a map, that is to say some sort of a plan or outline that shows
where the various things are to be found - not all things, of course for that would make the map as big as the world, but the
things that are most prominent, most important for orientation: outstanding landmarks, as it were, which you cannot miss or
which, if you do miss them, leave you in total perplexity. The most important part of any inquiry or exploration is its beginning.
As has been pointed out, if a false or superficial beginning has been made, one may employ the most rigorous methods during
the later stages of investigation but they will never retrieve the situation.
gl & goimAT EE FT UE AWl AETEA % AT g0 § A9 UE WEI i gieAT srEer fEens |7 g ssiiar
g # RfEw ool w5 s9w=y gF - oo Togd gt @9 §f ik 99 anEE 9w g B 9= g
ST T ¥ qend T wAE smE £ R gmE B oev ¥ wmw 4 g R dwfm 4y ¥ 3 &2 a
SrEAT Al AE @Eer 4te F gE Wi ar @ qhodr sEgww & Rafn # @ oW G ofr g e s oaee
TEEIN AW IEET ST &7 BT 8 RY fT IgET #Er T £ A TAT S@wer seEelid fEAT O qE E
L O o o e T e O T = S B T o e P =
TQUTET AEF W1 wEAT

Why is it that rigorous methods may fail?

wifew faftr sRrwe 4l 8 Tl 82 [Question ID = 18499]

1. Proper method has not been chosen./ IUgad faftf %1 g-1a -Ta1 §3MI [Option ID = 43988]
2. Superficial beginning has been made./Sdg! YBATT BT T2 T [Option ID = 43990]

3. The results are rigorous./ﬁ@ﬁfﬁﬁﬁ%l [Option ID = 43989]

4. They are not properly applied./3-hT 3o U F IwE 7-1’5°f§'~3ﬂl [Option ID = 43987]

Correct Answer :-
« Supefficial beginning has been made./|dg! IS BT TS | [Option ID = 43990]



67) MNote: Read the passage given below and answer the guestion
e i & wAEs 9 &t e § Ry v e oo dEF
One way of looking &t the world as a whole is by means of @ map, that is to say some sort of a plan or outline that shows
where the various things are to be found - not all things, of course for that would make the map as big as the world, but the
things that are most prominent, most important for orientation: outstanding landmarks, as it were, which you cannot miss or
which, if you do miss them, leave you in total perplexity. The most important part of any inquiry or exploration is its beginning.
As has been pointed out, if a false or superficial beginning has been made, one may employ the most rigorous methods during
the later stages of investigation but they will never retrieve the situstion.
At #7 TiTaT =Y wT UF W oWt F AT g & Sy UF WEI AT g s Gemm Sr ag s
g & RBffw ool wmr ovwew g - ot Gegd GE @esw & @ik @9 meEw A B Feer oa=roar
FEA, 9 F FEgE ST d99 yHE g, BET gEE F e ¥ wgw #7 gh Bhw dwhEe 4w 3 3 & e
FrEAT Al AR HEET A F gE WW 9r @7 yiear gadew fF Bufn f w o G off 99 o owmw
TEETS AW TEET AT T BT 8 %g fT g9 FEr T £ 9% Tew auer deeEeiE gEw f oA I A
or T W el fF witw B o= sww g ff T & Balt § |\t o7 5 fer o, o of Bl o
TUTET A5 W1 wEHAT

Why should all things not be shown on the map?

Tl aegait @) wrAf W w7 gmifan ST A4S dar? [Question ID = 18497]

1. People are not interested in everything./?ﬁﬁf CARICEsE] Gﬂ\}ﬁ o T8t gt [Option ID = 43980]

2. People want to choose./@T TATd H3AT T84 & [Option ID = 43982]

3. That will make the map as big as the world./'sﬂﬁ gt fay e EEl Bl S| [Option ID = 43979]
4, Those making maps have to choose./HM AT Bl ESICERSI BTl [Option ID = 43981]

Correct Answer :-
« That will make the map as big as the world./399 T fa%y oI ST 81 AT [Option ID = 43979]

68) IMatch the following items of List | with List || and indicate your answer with the help of the
code given below:
List | List Il
a) Punishment 1. Ewents that precede an action
b} Operant 2. Voluntary behaviors emitted by a person or an
animal
c) Antecedent 3. Process that weakens or suppresses behavior

4. Providing a stimulus that sets up a desired
d) Consequences behavior

e Cueing 5. Events that follow an action

HET 1 W 11 3 B A S H 39T Soo A G0 17 FiE 6 A 8 g

T il

3|88 1. TEATRS St 1 & 95 7R

o) TR 2. FTEES SOagN il el STerd 47 ofi=Ta GanT
SeaTaid g

e CEIG] 3. 9TehdT 1 SAdER HT FHAR IT STHT FL

d) el 4. T AT cAaeR o g e & o Sar
Sooioteh w1 Hae &Y

&) B 5. SCATERH ot Tohdll &1 &l 9Te F

[Question ID = 18424]



1. 3213 % [option ID = 43691]

abc de

2.2 3 3 14 [Option ID = 43693]
abcde

3.1 23 %3 [Option ID = 43687]
abc de

4,3 4 3 2 1 [Option ID = 43689]
Correct Answer :-
abc de

« 32154 [Option ID = 43691]

69)  Answer the question based on the data given below:
¥ guc FekfEe o=t & aer w 4R

Mean Marks out of 100

100% & sftad @®
Marks in Subject Student A Student B Student C
e & s =T A fa=rt B fa=mrft c
Mathematics Tfora ag 100 60
English afaeft &g 79 20
Accountancy SETEATE 88 90 91
Business Studies STTHT JHEET B0 82 g2
Economics @9mer i B T

If including the marks of Mathematics is compulsory for admission to B.Com in the University of Delhi, who amongst the three is most
likely to get admission on the basis of marks in the best four subjects?

afe et fayfaemera & fietm ureama & vaw g G & siwl o Wi fear s sifFard 81 a, T orsd waRl+ ot I fawal o e siwl &
IMYR R A= farenffal # | fFad waw wra $3 F UG 82 [Question ID = 18442]

1. Both Student A and B/fa=mif A 3R fa=mff B 3 [Option ID = 43761]
2. Student B/fd=if B [Option ID = 43760]
3. Student C/fa=mdf ¢ [Option ID = 43762]
4. Student A/ formmdf A [Option ID = 43759]

Correct Answer :-
« Student A/ fd=mdf A [Option ID = 43759]



Match the famous sayings of List | with Philosophersin List Il and choose the correct answer using the codes given below:

List | List Il
1. 1think therefore | am {i) J.1. Rousseau
2. The unexamined life is not worth living (i) Aristotle
3. Man is born free, but is everywhere in chains {iiiJRene Descartes
4. Happiness is the highest good {iv) Socrates

Tar | # By o A At w1 ogEr 1 F By o sniewl @ f@ew w8 &k i By g w1 @ w7
T I T

AT =

1.5 = g wEiee & (i1 3 5 ==
2. 59T weET e o= wEE TE o s
3.7 TN U g R g W W ARt F R (i) T FwTeE
4 5T IgOw F==E B {iv) TR

Choose the correct answer:
TR I T

[Question ID = 18400]

M 2 G q

g, W0 o on 1o = 43501]
1 2 3 4

g, (e WO ion 1D = 43503]
1 2 3 4

3. 0 VHE o ption 1D = 43505]
1 2 3 4

g, W W00 roption 1D = 43597]

Correct Answer :-
1 2 3 4

il a0 option 10 = 43593



Match the following

Set A SetB

1. Gender Role Identity a) Researches have found that boys are given more freedom to roam
around the neighborhood, and they are not protected as compared to
girls, from potentially dangerous activities such as playing with sharp
scissors or crossing the street alone

2. Gender Bias b} Through their interactions with family, peers, teachers, and the
environment in general, children begin to form and organize networks of
knowledge about what it means to be male or female

3. Gender Schemas c) One study found that before 1970, there were four times more stories
about male characters than about female characters in most of the
textbooks, produced for the early grades

4. Gender-Role Stereotyping d) The image that each individual has of himself or herself as masculine or
feminine in characteristics, is a part of self-concept
g) Confusion in both males and females about who one is and what one
wants

f) Complex answer for both males and females to the question ‘Who am

r?

FafET st #1 o9 dgewmEt ¥ fEaw fiEy -

I A T B

1.9=7 qffmr ft mEe a) sigi F wET T g & wEwt w ww ¥ o & s
TR 6 W AT S WEtEE 7 vy g At ¥ e
AT SEW UEF T FOA A9 I gOeTE e ¥ aww
Tgf fEar =mm

2. F= T b) i, guEg, FeEl @ e w Y ¥ amEdr % oam s

sim: Ghamst g Sew/ anfeEan, Y AT & T FET gl 8 %
g9y ¥ A R @EE o @A FT A9fET qTdd a9 @
&l

3.9=< =hi|T ¢) TF @EET W WIW g % 1970 ¥ WEw wntww wwm e
FffT affvsr weg wowt § S-TEr i osi ww 9mt ¥
TETET FETHET 9 AT AEE BT AT

4 =T qfiFT gEdT wgaTom d) gier ST atmswt % 'Y ¥ oyew snE fr mAg fi
T seAdFET F1 Rear g 8
e) 57 @ feataqt ¥ = 9 ¥ www & =he w9 g & w\w
STEAT B
f)Tew & RBEtent & g & =19 ¢ 77 &1 I aka &

[Question ID = 18489]

1. 1-b, 2-c, 3-d, 4-a [Option ID = 43948]
2. 1-d, 2-e, 3-a, 4-f [Option ID = 43949]
3. 1-a, 2-¢, 3-e, 4-d [Option ID = 43947]
4. 1-f, 2-d, 3-a, 4-b [Option ID = 43950]

Correct Answer :-

72) Subject centered designs revolve around:

o Hfa wuRar Hd &: [Question ID = 18465]

1. Learners/ﬁ’[&mﬁq? [Option ID = 43851]

2. Social problems/ JTHIfSTE FHTSH TR [Option ID = 43852]
3. Social values/STHIR® T TR [Option ID = 43854]

4. Content/ ITH TR [Option ID = 43853]

Correct Answer :-
« Content/ I TR [Option ID = 43853]



73) ‘The notion of equality of educational opportunities can only be implemented in the context of disparities existing in the social
environment'. In the context of this statement:

"R AR P THFCT BT YRUN e ATHIS IAER0T & Hiefg sRadarel & a<f # § fraf<a 9t o wadt @71 39 oy F < &
[Question ID = 18493]

1. Both 'Agreement is democratic' and 'Non-agreement is democratic' are correct. /ggHfd diddiRie 8 3R '3gH didbdiRe &, aHl It &1 [Option ID =
43965]

2. Agreement is democratic/agafd Apdite %I [Option ID = 43963]

3. Neither 'Agreement is democratic' nor 'Non-agreement is democratic' is correct./‘ﬂ%‘qﬁ{ Apdie %‘ 3R 'SHE'FH%{ Apdie %‘, Eﬂ:ﬁ ?I?ﬁ 7-1’5°[%I [Option
ID = 43966]

4. Non-agreement is democratic/3MgHfd Aeaiaie &1 [Option ID = 43964]

Correct Answer :-
« Agreement is democratic/SgHfd A di=® 1 [Option ID = 43963]

74) “Tagore’s legacy is the view that education is always developing, an emergent creation, ever-evolving towards

AR Y favraa ae ? 1 e gaen faeraeha 8, e gior =, st i F1 3 gea SfgPrit g1t 1 [Question ID = 18370]

1. Physical man/RiR@ aafad [Option ID = 43471]
2. Personal man/afdTd aafad [Option ID = 43473]
3. Universal man /fayaardt aafaa [Option ID = 43477]
4. Spiritual man/3TEATTAH fad [Option ID = 43475]

Correct Answer :-
« Universal man /fayaamdt safad [Option ID = 43477]

75) Doubt as the basis of knowing was propounded by which of the following thinkers?

TR P A & YR & F9 # 7 7 {59 far® 3 wfauifea fHar 412 [Question ID = 18496]

1. Russell/¥d [Option ID = 43977]

2. John Locke/S9 @i [Option ID = 43975]
3. Descartes/S®Te [Option ID = 43976]

4. Aristotle/3RR¥] [Option ID = 43978]

Correct Answer :-
« Descartes/S®I¢ [Option ID = 43976]

76) Operation Black-Board Program was introduced to improve:

TR AP-aS PAHH P gaR I P fore WY fohaT /4T UTI [Question ID = 18502]

1. Secondary Education/HTeafies fRref [Option ID = 44001]
2. All of these / T+t fd@ed [Option ID = 44002]

3. Primary Education/STdfiid & [Option ID = 44000]

4. Teacher Education/fX1&/d fR1&fT [Option ID = 43999]

Correct Answer :-
« Primary Education/dT4f8id fRI&T [Option ID = 44000]

77) Which of the following is not true about quantitative and qualitative data?

e & | S99 FU aEES AR U 9l F R § T4 76 82 [Question ID = 18450]

1. Qualitative data deal with apparent or implicit qualities./J0TE® 3Mihs T IT 3T 0N ¥ I &d &1 [Option ID = 43793]

2. Qualitative data deal purely with numeric values./fJ0TcH® b ﬁ‘{ﬁ;{ FY Y THTHS AF I \“{1@ B gl [Option ID = 43794]

3. Quantitative data are based on measurable quantities./HATHD Gm 9= 9 AT R SR g %I [Option ID = 43791]

4. Quantitative data are measured using tools or instrumentation yielding values./HATH® Gﬁﬁaﬂ Y, YD AT IUDHRU SUSTHH] BT ITIN] P foar
ST 81 [Option ID = 43792]

Correct Answer :-
« Qualitative data deal purely with numeric values./ AU 3w s Y T Y WS HH ¥ I3 81d &1 [Option ID = 43794]

78) Which of the following is the correct description of the stage as presented in Kohlberg's theory of moral development?

fFrafafea 3 § #9 a1 Fige & e e & TRol 1 9 fJavor 82 [Question ID = 18461]



1. Obedience and Punishment orientation is concerned with evaluating one’s own behavior with existing rules./3fTRITTIRT 3R <3 AN o1 WHR
A T & Ty 3o WY & TagR & Hedih ¥ 1 [Option ID = 43836]

2. Social Contract and Individual rights orientation is concerned with behavioral consistency with one’s own ethical ideals./ﬂﬁﬂﬁﬁﬁ Tfger 3R safdad
BRI BT TRIBR 3 e el & 1Y TGRS G I F 1 [Option ID = 43838]

3. Good Boy/Nice Girl orientation is concerned with approval — disapproval of others and family standards./ 38T TS®T/3w! AS®! AU & WIHR 3
AT & SFHIGH/3FIHG § TUT UIRaTes H-dh! ¥ 81 [Option ID = 43835]

4. Law and Order orientation is concerned with avoiding punishment, and goodness of own behavior in the form of consequences./®T{1 3R =T

ST BT WPR <8 J T84, TRUTAT & T F 307 HaeR B 3BTS J 81 [Option ID = 43837]

Correct Answer :-
« Good Boy/Nice Girl orientation is concerned with approval — disapproval of others and family standards. /35T TS/ 3Dt TSP SHAT BT WHR
3 TN & SgHIGH/3IAIE ¥ quT IRaTR® AT § 81 [Option ID = 43835]

79) Which of the following National document advocates delinking of degrees from jobs:

Frafifed & @ sH-ar e gwaw R o Aeial  Rdifa/ srige $33 1 3/gHle- ST 82 [Question ID = 18469]

1. National Policy on Education (1968)N@Tl fRuem fifa (1968) [Option ID = 43867]

2. National Policy on Education (1986)/ ST fRi&fl il (1986) [Option ID = 43868]

3. National Curriculum Framework for School Education (2000)/f3=rTerdit fie & foTe 181 Urer=mi U (2000) [Option ID = 43869]
4. National Curriculum Framework (2005)/RT8Td UTa=rdi = UR@T (2005) [Option ID = 43870]

Correct Answer :-
« National Policy on Education (1986)/ 183 fRi&f ifcr (1986) [Option ID = 43868]

80) Which of the following situations appropriately represent a disability which has become a handicap?

fFrafafaa 3 @ siF-30 aRfRufa TR sierrar w1 ufaffra st @ Wit fasdiTar 999 &t 82 [Question ID = 18460]

1. A visually challenged person requiring a Smartphone App to read a menu in a restaurant/EfRaTRT fHT GRT XXRT BT B U & T WTHIA U HT
JUGRT FHAT [Option ID = 43834]

2. A visually challenged person wanting to compose music/EDETT cafad gRT WHd-Xa-T &1 TN HAT [Option ID = 43831]

3. A visually challenged person trying to talk on the phone/EfSaTid =fdd gRT T IR 91 B BT TR HRAT [Option ID = 43833]

4. A visually challenged person trying to drive /EfRaTTEId cAfad GRT A8 I BT WA &1 [Option ID = 43832]

Correct Answer :-
« A visually challenged person trying to drive /a1 e GRT A6 A BT T HAT [Option ID = 43832]

81) Which of the following does not fall under Open Educational Resources (OER) repositories?

g o | F9-T1 goa e T9TeE WU (HW) § Tffera T8 82 [Question ID = 18486]

1. Videos of National Repository of Open Educational Resources (NROER)/~-d RUR{ it 3fu uejarat REfet (NROER) & Fif&al [Option ID =
43935]

2. Videos of National Program on Technology Enhanced Learning (NPTEL)/ﬁW T 37 Tarare TeRs &0 (NPTEL) ¥ difsar [Option ID = 43936]

3. Videos of Open Education Consortlum/a-ﬁtF-[ QWHH HIeay & difsa [Option ID = 43938]

4. Videos of YouTube standard license/Jedd WUSS T3 & ISl [Option ID = 43937]

Correct Answer :-
« Videos of YouTube standard license/Jeds }USS A58 P JifSAT [Option ID = 43937]

82) Which of the following is NOT true regarding Maslow’s Theory?

fFrafafaa @ 19 91 $y= Al F Rigia F e I 781 82 [Question ID = 18423]

1. Basic requirements for physical and psychological well-being/ TR 3R AAIGTIHS WY BI TS ATl [Option ID = 43681]
2. Need for knowing, appreciating and understanding/ GIT:TiT, RIS HA 3R qAY §91 DI TGl [Option ID = 43679]

3. A person’s desire to develop to his or her full potential/ T G & U= Xt &A1 & IR fdHRId §1H &1 ST [Option ID = 43683]
4. Need to live in isolation in old age/ §gTd H TG & Ig+ BI ATGRTHT [Option ID = 43685]

Correct Answer :-
« Need to live in isolation in old age/ g & SeTd & Xg+ &I ATl [Option ID = 43685]

83) Which of the following is not an agency of socialization?

g & @ S FHSISIU BT Th 3BT 7€) 82 [Question ID = 18381]

1. Family /AR@R [Option ID = 43513]
2. Genetic makeup of humans/ H{® il Sﬂﬂﬁlm §-rdc [Option ID = 43518]
3. Peer group/9gUTa! ¥Hg [Option ID = 43515]



4, Media/Hif&aT [Option ID = 43512]

Correct Answer :-
« Genetic makeup of humans/ A& @1 3{Jdif1& &G [Option ID = 43518]

84) Which of the following is not associated with behaviorism?

fFaffaa & @ $19 a1 aggRare I G198 8: [Question ID = 18457]

1. Skinner box/R&pR Siaq [Option ID = 43820]

2. Free will/Hd&d =37 [Option ID = 43822]

3. External rewards/dTel YR¥HR [Option ID = 43821]

4. Programmed Iearning/fo\%ﬁra @T/ﬂ'ﬁs’) ST [Option ID = 43819]

Correct Answer :-
» Free will/Hd =T [Option ID = 43822]

85) Which of the following elements would you not relate with the basic elements of inclusion?

fFrafafad ol o 3 enu frae! waaxht Rren & o aal & 9y 78 Sisd? [Question ID = 18474]

1. Admitting children with diverse abilities/fafaes emrarafi o Tt S=af &1 Ua=T [Option ID = 43888]

2. Homogeneous grouping /SSTcid g4z [Option ID = 43889]

3. Age and grade appropriate placement of children/aﬁﬁ FIIRAIT RIS S AR ﬁ@% [Option ID = 43887]
4. Zero rejection/R[A \H@Tﬁ [Option ID = 43890]

Correct Answer :-
« Homogeneous grouping /AT THg [Option ID = 43889]

86) Which of the following questions deals with Epistemology?

fFrafafead d & S9-a1 uy FriwEaT @ 69l 82 [Question ID = 18468]

1. Is universe created?/&T SIS &1 goi g3l %? [Option ID = 43866]
2. What is doubt?/ T&g & B [Option ID = 43865]

3. What is good?/GlTéﬁ Eall %? [Option ID = 43863]

4. Does God exist?/@T $3R FT 3T 82 [Option ID = 43864]

Correct Answer :-
« What is doubt?/ &g 1 82 [Option ID = 43865]

87) Which of the following statements is not true about the Right of Children to Free and Compulsory Education Act (2009)?

fFrafifEa o | S9-T1 Fy MR 3R sifFard a1a Rien sifter sifufeaw (2009) ¥ v & T 81 82 [Question ID = 18368]

1. It is the first Central legislation on school education./dg faemerdt Riam o ugan P CapGl H| [Option ID = 43463]

2. It is the only Central legislation on school education./dg ot fRrem W srerar dea P %I [Option ID = 43465]

3. It holds significance as a Fundamental Right to have been added to the Constitution of India./a8 T Hiftid ISR F TU & Hgaqul & s YRd &
Tfaer & ST T 81 [Option ID = 43469]

4. It is a Central legislation applicable across India./q8 U% $Hi B & ot W HRd H TR 8| [Option ID = 43467]

Correct Answer :-
« Itis a Central legislation applicable across India./dg U Ea-D| EapGl sl Uj\f yRa o le%l [Option ID = 43467]

88) Which of the following statements would you relate directly with Deductive reasoning?

fFrafafeaa 3 @ frae smu - P aF F Ty Fefd T9ge 82 [Question ID = 18475]

1. It involves use of multiple hypothesis and several specific observations to give conclusion./39Y 3 fafy fewfimt sk &3 uReeursit & IuanT gry
forp fm ST B1 [Option ID = 43892]

2. It involves using a set of general statements or observations that we know to be true to reach a logically sound conclusion./ 3oH gy fewfors ar

P T BT YANT B [T BH 9 A §, U dlichds (5hY qd UgdT Sl 2 [Option ID = 43893]

3. It is a ‘bottom up’ process involving generalization from specific observations./ag faRI sraeie-l & IHAHRU I Ugan &1 HE ¥ HW/, SH BT ufesar
21 [Option ID = 43894]

4. It involves using a set of specific examples to reach to a general statement./%?@ ﬁﬁ]‘g AR & T Y BT SUINT HR Uh HH DU dh tIEVEIT
ST 81 [Option ID = 43891]

Correct Answer :-
« It involves using a set of general statements or observations that we know to be true to reach a logically sound conclusion./ $¥H Jg fewfor ar

HaEHT P T BT YT B o8 81 T A &, T dlfchep (pY dab UgdT Sl 5 [Option ID = 43893]



89) Which one is true about religious education as given in the Radhakrishnan Commission Report?

AYTHWH TET Pt f¥arE & enfifer Riam & ¥ & Smar 19 T A T 82 [Question ID = 18503]

1. Religious education has an important place in higher education. /ﬂm f2ren @1 3= e ot WWH %I [Option ID = 44005]

2. Religious education is a pathway to spiritual education./&fHe fRam amemfares Riem % forg ue Al 81 [Option ID = 44003]

3. We do not want religious education, but education about the religions./g% 1ftids fRrer =T, 3ifig emf & SR & e =g 81 [Option ID = 44006]
4. Moral and Religious Education are two founding stones of Social education./ﬁﬁﬁ IR enfifer R wmfore e @t g §1 [Option ID = 44004]

Correct Answer :-
+ We do not want religious education, but education about the religions./gW &fifes fR1em =&Y, siftrg e % IR & Rrem =15 §1 [Option ID = 44006]

90) Mrs. Harshita has a son who is in class 2. Every day, he returns home from school and excitedly talks to her about his friends,
teachers, and the things which happened at school. Which system is the cause of this excitement?

ot gfifanr o1 03 wem 2 & vgar ?1 98 wfafes femey 1 dieey et af & oo s, st o faeanay ¥ ufeq gersi & ok & Ixqwdr A adrar
{1 BF-TT &7 ITBT IGP T BT BRYT 82 [Question ID = 18484]

1. Microsystem/ATshIRIEH [Option ID = 43930]
2. Macrosystem/ AR [Option ID = 43928]

3. Exosystemmmw [Option ID = 43927]
4. Mesosystem/ﬁ@lﬁw [Option ID = 43929]

Correct Answer :-
. Microsystemﬂiﬂgﬁﬁlﬁﬂ [Option ID = 43930]

91) In an inclusive setup where there are children with diverse reading abilities, modification in material can be done to:

TP U SIawT 5181 UgA Ft fRAfay emarsi 9 o= €, 9gf aneht & Iwie= % ferg foran ST TdT 8: [Question ID = 18467]

1. reduce highlighting of critical features/FHTAEATE® A&UN & IURA P HH H [Option ID = 43859]
2. complicate language/HTdT ﬁii[@b_d T [Option ID = 43862]

3. increase extraneous details/aTg! fdavur & gfg FH= [Option ID = 43861]

4. increase readability/ gUTdI &I &M [Option ID = 43860]

Correct Answer :-

« increase readability/ JUTSIAT ! §GH [Option ID = 43860]

92) Mathematics and History are two different forms of understanding. In terms of methodology:

TN 3R 3faE™, I & ) 3ITNT-3eRT *U & | priugia & gy #:
[Question ID = 18398]

1. The first is very high in precision and the second presents a probable truth at the most./TgdT Sgd 3ifi® T § 3R TIRT 3HH § s Jureg I
TR B Fhdl 81 [Option ID = 43583]

2. The first is concerned about the choice laden actions and the second presents the actions made in the past./ Ugdl ey ¥ 1R Hrf Q TEiE % 3R W0
it H foU TTU BTl ol UG R 31 [Option ID = 43589]

3. The first is concerned about human well-being and the second presents the stories of well-being in the past./Ugdll HId B 10l Y gwifd § iR UM
cfid o Hr B FHRIGT B UR_gd HRaT 81 [Option ID = 43587]

4. The first is very open in choices and the second presents an issue under investigation.[EIBﬁ | ggd q @ﬁ fawen g1 % 3R N Site ford o 38 fawg &t
TR HT 81 [Option ID = 43585]

Correct Answer :-

« The first is very high in precision and the second presents a probable truth at the most./TgdT §gd 3if® Teie T 3R IRT e F 3ifieh Yoy T
TR PR T 21 [Option ID = 43583]

93) Who wrote ‘The Republic’?

fram ¢ Rufere femar uT? [Question ID = 18378]

1. Kant/eic [Option ID = 43503]

2. Rousseau/W [Option ID = 43505]
3. Plato/wiel [Option ID = 43509]

4. Hegel/@ITTd [Option ID = 43507]

Correct Answer :-
« Plato/wIel [Option ID = 43509]



94) According to Jerome Bruner, the Curriculum of a subject should be determined by the most fundamental understanding that can be
achieved:

R TR F IR, T vy & ureumd @1 Tad gard) aus e grt fAuffva @) st afde? [Question ID = 18390]

1. of the important theories that have been proved in that subject/3d fawg A fg H’Elc_cqﬂf g & [Option ID = 43551]

2. of the classical ideas that have been proposed in that subject/3% fawa & TRaTfad fard 7T AR fa@RT & [Option ID = 43555]

3. of the underlying principles that give structure to that subject/3% favg 1 T=HT UeH H3- aTd faf-ied gl & [Option ID = 43557]
4, of the significant discoveries that have been made in that subject/34 fawa 7 fod T Ordfes 3wl & [Option ID = 43553]

Correct Answer :-
« of the underlying principles that give structure to that subject/39 fas &1 T UgH HRA a1dt 3idfiied Rl & [Option ID = 43557]

95) According to John Dewey, the task of the teacher is to:

S $g8 & IR &% $T B/ 8: [Question ID = 18451]

1. harness the educational experiences of children for the development of the nation/IT¥ ¥ o & fou o= & e Gﬁll?ﬁ P IGINT HRAT [Option ID =
43797]

2. harness the child’s interest in the educational process/2iféi UfehaT & ATA® BT BT & gig BT [Option ID = 43796]

3. develop teaching learning material for children to learn/S=ai/BT o forg Rreror SfTH ARt &1 3™ FHRAT [Option ID = 43795]

4. develop the hidden talents of children/ S @1 fstt wfaTaff &1 fawRId AT [Option ID = 43798]

Correct Answer :-
« harness the child’s interest in the educational process/Riféie Ufshar § aTaw® o1 31 H gig BT [Option ID = 43796]

96) According to Bertrand Russell, "To be a good philosopher, a man must have a strong desire to , combined with great caution
in believing that he knows; he must have a logical acumen and the habit of exact thinking”.

TS A $ ITIR, TP 301 qrRife a9 & Rig, ve el Y TS Heigd 901 g1t A1iey, , I8 U8 Sfafayry 78 g anfee f ag
ST §; 98 U9 a1h® gfg 3R Tt W FT 31ed aren 11 A1ge | [Question ID = 18416]

1. examine/ ST % @1 [Option ID = 43657]
2. analyze/fd=ANOT SR @1 [Option ID = 43661]
3. know/SIT- @1 [Option ID = 43659]

4, answer/3TR & Bt [Option ID = 43655]

Correct Answer :-
« know/SI+ @1 [Option ID = 43659]

97) The mean is generally an inappropriate measure of average for surveys that ask people to indicate their preferences. The above
statement is:

3T TR TR T 0T oIgl ANl | 33 Urufireparsit &) goT wrar €, 98t 3ivd &1 §Ra 3 & e arer ver srgfa S 81 SWied $YA 8:
[Question ID = 18446]

1. False, as mean always gives a correct measure of average/3/Fd, Fife HILT 3NGd P! AT FEI VT BT § [Option ID = 43777]

2. False, as mean is a common measure for finding averages/3fad, Fifes HTed 31 T UM & 7T Uh 3T IUTT & [Option ID = 43776]

3. False, as mean is a common measure for finding averages and it always gives a correct measure of average/3dd, TP A1 ST BT UM F Y T
3T I ¢ 3R T8 STTd ST §HRM el 70T Hl § [Option ID = 43778]

4. True, as preferences are generally presented in an ordinal scale./dd, Fiifp Trufirpdral o 3 dR R SHHYID o H Wdd [ERISIGI] % [Option ID =
43775]

Correct Answer :-
« True, as preferences are generally presented in an ordinal scale./qd, TP TUMAHATSN BT 3 TR TR HHIIS HIO-T & YR T ST § [Option ID
= 43775]

98) The name of the Massive Open Online Course (MOOC) Platform developed by the Government of India is:

YR & ARG 3N STaTgH BRI Wewr (MOOC) HT 1 &:
[Question ID = 18463]

1. FutureLearn/tRIEIWFf [Option ID = 43844]
2. SWAYAM/XFaH [Option ID = 43846]

3. Coursera/®I¥RT [Option ID = 43843]

4, Udacity/3STRIc! [Option ID = 43845]

Correct Answer :-



« SWAYAM/ZITH [Option ID = 43846]

99) The correct sequence involved in developing skills is:

Hiere e & aftifa 9t arged &
[Question ID = 18452]

1. Manipulation, Naturalization, Precision, Observation/ﬁ?ﬁ'—?ﬁ’s.’, WW, qﬁw, NCNIGE] [Option ID = 43802]

2. Imitation, Manipulation, Precision, Naturalization /3{J&UI, Gﬁg—?ﬁg, qﬁﬂ@?ﬂ, EEaRER [Option ID = 43800]

3. Imitation, Precision, Manipulation, Automation/3{J@~0l, GRS, T8-S, ¥aTe [Option ID = 43801]

4. Observation, Imitation, Successful Practice, Automation / GIHFﬂW, SIHRUN, Yhd WY, IAIA [Option ID = 43799]

Correct Answer :-

« Imitation, Manipulation, Precision, Naturalization /3{JRUI, Gﬁ—s,’-?ﬁ?s’, q ?% &I, ARG [Option ID = 43800]

100) The Three R’s used to judge the appropriateness of a set of norms for a given testing situation are:

foreft § it THeror fRARY & |9 @1 sifare sifam & fore R &9 o &1 v fear wran @, 9 8:
[Question ID = 18447]

1. Representativeness, relevance and recency/Rusiefea g (wfafAfiicaan), Ya=g (urifieen) iR =¥t (Fdiar) [Option ID = 43779]

2. Representativeness, reliability and resourcefulness/ RuS=fea g (uﬁﬁﬁam), Jafaferdt (ﬁ’dﬂ’—ﬁqﬁ) 3R ﬂ?ﬁw (H1Y_ HHT) [Option ID =
43780]

3. Reliability, reasons, representativeness/Siar@fere! (fayg-iaan), o (@R, fRosiaw (ufafAfiadn) [Option ID = 43782]

4. Reliability, resourcefulness, representativeness/ St (feaeam, ARG (@ g, Rue=feary (wfafafiaan) [Option ID = 43781]

Correct Answer :-

« Representativeness, relevance and recency/RuSifea a (afafRfieadn), Yo~ (URifiieedn) 3R ¥4t (Fdi=aT) [Option ID = 43779]



